


s. How much time does she wc

E-:on buying a book and ¥ 8%— on lu

t some tomatoes. She used I|§ kg of these
ed Z%kg for making vegetables for the family in

oes she bought.

numbers is i% If one of them is %, find

2 oil. If < litre oil is leaked, how mt




ane covers 1200 km in an hour. How much distance
it cover in 4 ‘2‘ hours?

e capacity of a parking place is 80 cars. % of the parking place is full at’épiﬁ
ime. How many more cars can be parked at that time? e

Adass has 45 students. % of the class went on a picnic. How many stude;»
on the picnic? &

A cinema hall has 450 seats. % seats were occupied in a show. How manj?

‘watched the movie? How many seats were vacant?

00 students sat for a competitive examination. % of the

passed. How many students were not successful?

"}rds of the students in classes I to X in a school are boys. -
1 to VIIL What fraction of the students studying in classes I




/ner of % of a property. He divides it equally among his <
of each child. .

was divided equally among students of a school. If each sty

Ik, find the number of students in the school.




tr. velled '-1-;5 km, | have campleted g
my journey?

) 1 have travelled 25 km, still = = of my journey is left. Wh

/ journey?

In a school each student pays ?3% as library fund. If thé amo
i?'-l()é-g, find the number of students in the school.

At a charity show in a school each student buys a ticket costing ?7—'5 If
collected is 3000, find the number of tickets sold. A

. A bag can hold 38 kg rice. If |Q37— kg rice is to be put in bags,
- of bags needed.

Nidhl has T48. She spends — of her money on books and of
noney on lunch in the school How much money is left with her?

water tank is —l— full. After drawing off 16 litres it is just Z full. Whaj

i the water tank7

es H of the kitchen garden for growing vegetabl.‘s.

 tomatoes. If the kitchen garden is 100 squ




